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åëñîÏ
èèöàðåïî

)62=n(ÑÒÁÌ 4,04 2,44 8,82 5,31 1,84 4,51 3,71 6,9

)41=n(èêäàùîëïÌÁË 4,51 2,91 1,32 5,11 2,12 4,51 3,71 5,11

)21=n(ß×ÏàíäÌÁË 5,11 2,91 1,32 55,11 5,31 8,3 2,12 3,71

)25=n(îãåñÂ 3,76 7,28 0,57 5,63 7,28 6,43 8,55 5,83
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èèöàðåïîîä èèöàðåïîåëñîï

0 1,0+8,1 3,0±0,2 9,1+0,4

06 *1,0+6,1 *1,0±8,1 2,4+8,61
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ÿàíüëîðòíîê

èèöàðåïîîä èèöàðåïîåëñîï

ë/ÅÌ,ÃË *22,0±01,2 *04,0±20,3 02,0±16,4

ë/ÅÌ,ÃÑÔ *21,0±20,6 *02,0±02,5 26,0±53,9

ë/üëîìí,ÑÒ *04,0±50,9 *25,0±10,8 02,1±02,61
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èèöàðåïîîä èèöàðåïîåëñîï
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